

COMMONWEALTH OF MASSACHUSETTS MASSACHUSETTS DEPARTMENT OF TRANSPORTATION **PURCHASE ORDER**

Amendment

in.			MA	SSACHUSET	TS DI Pu	EPARTI RCHAS	MENT OF E ORDER	TRANSPO R	DRTA	TION AM	entmer! Cross-c l majort Coptone sh	
	-	_		FOR CO	MIMO	DITIES	AND/OR	SERVICE	S	Įη	C1065-	^
		. F	☐Co	MAIODITY/EQ	UIIME	INT	⊠s	ERVICE		Bnnus	l majort,	fun
	TH	S PURCHASE	ORDER	ONFIRALS AN O	RDER	THAT WA	S PREVIOU	SLY PLACE	D. PL	EASE DO NOT DUPL	ICATE TOLE) IN	d-1
*Purc	hase Order Issue I	Date:	*Purch	ase Order N	ımbei	r: P	CDO'	Г0287	718	090042		Mary
_			Contra	ct Number:	9004	2						1
Contr	act Start Date: 7/1/2015		Contra	ct End Date: 10/23/	2021			Re	Seren RFR	ce MA or Contr	act:	1
221				Ver		nforma		- 2				1
*Nam *Addi *City,		phoTrust US Carothers I Franklin, 7	Pkwy. St	c 650	Tel Fi En	iephona ix: mil: jco	:: 678-575 rson@mo	mhotrust.c	om e FO	20171229MA16		
				De De	_		formation					l
John (857-36 John.c Annua Plyma	ontact: Cadorette i8-9960 adorette@state.ma il Muint for 5 Capt uth, MA ictions to the Ver	ure Station	ıs for Ri	۸V	*/ */ *(T	Contact Address Pity, Sta Pelepho Email:	Person: : 10 Park ite, Zip C ne: 857-; antonia.pi	Antonia I Plaza, Ro ode: Bos	Pires som 8 ton, N .ma.u	1A 02116		
2. The 3. See a Enga 4. Vene after • Enga the ven	vendor's invoice mand, unit of measure, purchase order numb attached specification gement of Services blor assumes risk of it the Requested Delive gement of Services (a dor, provide a brief dof hours and the hound diditional specification	her must appose, if any, receive. Additions for commery Date about the posterior of the pos	rear on the clated to onal spec modifies in the clates for a re of the clates we have a rear a re of the clates we have a rear a re of the clates we have a rear a	ranount of an this purchase Hications are a in transit. All crejected. Re ervices): If this c services (at this is this course	iding li order of nec commi ected Purch ch det	st. If this essary if odities a commod and order to the commod and order to t	purchase the details re subject lities will b er is for the	order is for order is for of the period inspective e returned in provision of the period in appropriate the contract of the period in appropriate the contract of the period in the period in appropriate the contract of the period in the peri	or's in or ser- forma- ion up at the of ser- iote)	voice number. rices, please see to nee are covered in non delivery. Com vendor's expense rices which have b Also, include the d	he section entitled the contract. modities delivered	
Line #	Vendor Item Number	Iter Descri	m	Unit of Measure		notity	Unit Price	Subtot (Quant x Uni Price	tal ity it	** Discount	Total Price (Subtotal minus	
1	SEE ATTACHED	2	ع	2490	4	L 04	14	on		Quole	Discount)	40.
2						t	/	0.0		- who He		
3											10	
Depa	rtment Approva		_			Subt	otal:					
*Print *Date:		1,5				Ship	ping and	Handlin	g:	0.00		
of Se *Signa	dor Approval (or ervices) ature: ed Namus to orie	61_				Total	l Order /	Amount:		\$30,052. Inca	50 can	

* Indicates required field.

^{**} Discount includes any Prompt Payment Discounts.





January 15, 2018

Bill Norrish Project Management Office MassDOT IT 25 Newport Avenue Extension Quincy, MA 02171

Subject Quotation Reference Number:

FQ20171229MA16

Dear Mr. Norrish:

IDEMIA, formerly MorphoTrust USA, Inc. ("MorphoTrust") is pleased to provide the Massachusetts Registry of Motor Vehicles (MA RMV) with this quotation in response to your request. A description of the goods and/or services you have requested, plus certain terms and conditions of this quotation, are provided below.

DESCRIPTION OF GOODS AND SERVICES:

The MA RMV has requested pricing for an additional 5 Capture Stations associated with the current delivery of the Driver License and Identification Card program for deployment in the Plymouth location. Each Capture Station includes the following components which are included in this quotation;

- Signature Capture Device
- Photo Capture Device (Camera and associated software)
- Backdrop
- Document imaging scanners
- Vision Screening Test Device
- Document Authentication Scanner (Both B5000 and M500)
- Customer Facing Monitor
- Workstalion Printer

Note: Costs Include Applicable Software Licenses to Make the Unit Operational

Additionally, the RMV has requested MorphoTrust to support the office move in Plymouth. This move will take place after hours and on the weekend.



ASSUMPTIONS:

- This quote is dependent on agreement of final specifications with the MA RMV
- Includes onsite support the day following installation (if necessary).
- Assumes MassDOT resources will be present and onsite as needed to support deployment.
- Any return trips required because of 'site not ready' issues will be billiable at \$800 for the
 first four hours on site, plus \$150 per man per hour for each hour beyond the first four
 hours.

MorphoTrust is pleased to provide you with this quotation. Prices specified in this quotation shall remain fixed for a period of 60 days from the date of this quotation. Prices quoted herein are based upon the information that has been provided to MorphoTrust by MA RMV. Changes to the information provided may result in a change in price.

MorphoTrust standard terms and conditions which govern all purchases made pursuant to this quotation are listed below. To the extent such terms directly conflict with those set forth in this quotation, the terms in this quotation shall govern.

Please feel free to contact me with any questions you may have.

Sincerely,

John Corson

Director - Client Executive

IDEMIA

296 Concord Road

3rd Fir. Ste 300

Billerica, MA 01821

518 956-0347

jcorson@us.idemia.com



QUOTATION

Date:

January 15, 2018 FQ20171229MA16

Quote No:

Valid Through: 60 days from date

above

Payment Terms: Payable within 30

days of Invoice by MÁ RMV

Delivery:

Anticipated to be complete by the

end of February,

2018

To:

Bill Norrish Project Management Office MassDOT IT 25 Newport Avenue Extension Quincy, MA 02171

From:

John Carson **Client Executive** MorphoTrust USA 296 Concord Road, Third Floor Billerica, MA 01821

(51B) 956-0347

Product	Qty	Unit Price	Total
Signature Capture Device	5	\$642.00	\$3,210.00
Photo Image Capture Device	5	\$2,316.00	\$11,580.00
Document Imaging Scanners	5	\$1,204.00	\$6,020.00
Vision Screening Test Device	5	\$3,385.00	\$16,925.00
Document Authentication Scanner	5	\$4,375.00	\$21,875.00
Customer Facing Monitor	5	\$289.00	\$1,445.00
Free Standing Backdrops	5	\$250.00	\$1,250.00
Workstation Printer	5	\$625.00	\$3,125.00
PC Installation	10	\$125.00	\$1,250.00
Plymouth Office move Support (after hours and weekend)	60	\$180.00	\$10,800.00
		Total	\$77,480.00
Note: Costs Include Applicable Software Licenses to Make the Unit			



Annual Maintenance and	<u>Total</u>		
Annual Maintenance per unit	Units	Years	Total
\$0.00	5	1	\$0.
\$3,005.25	5	2	\$15,026.
\$3,005.25	5	3	\$15,026.
			\$30,052.

<u>NOTE:</u> This is a firm fixed quotation for goods and services.

PAYMENT TERMS:

Payable within 30 days of Invoice by MA RMV. The terms and conditions associated with Contract # 90042 will apply to this change order.